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Chapter 5 Quiz 1 Form G
Lessons 5-1 through 5-4

Do you know HOW?

Write each polynomial function in standard form. Then classify it by degree and
by number of terms.

1. n=4m?> - m+ Tm* 2. f(n=4at+30+2t—7 3.f()=5r+7+ 2"
n=7m"+ 4m? — m; f(t) =368 +6t—7; fN=2R2+5r+7;
quartic trinomial cubic trinomial quadratic trinomial

Find the zeros of each function. State the multiplicity of multiple zeros.

4. y=(x+2%x-5* 5.y = (3x + 23(x — 5)° 6.y = x2(x + 4%(x — 1)
—%, multiplicity 3; 0, multi ity 2;
5, multiplicity 4 5, multiplicity 5 —4, multiplicity 3;
Divide using synthetic division. 1, multij
73 +3-x-3) = (x-1) 8. (23 — 3x% — 18x — 8) + (x — 4)
X +ax+3 22 +5x +2

Find all the imaginary solutions of each equation by factoring.

9. x* + 14 -32=0 10. x> — 16x = 0 1m6° — 22 +4x =0
+4i none 1+iv23
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Do you UNDERSTAND?

12.

13.

14.

15.

16.

What is P(—4) given that P(x) = 2x* — 3x% + 5: — 12
P(—4) =783

Open-Ended Write the equation of a polynomial function that has zeros at —3 and 2.
Answers may vary. Sample: y = (x + 3)2(x — 2)

‘The product of three integers is 90. The second number is twice the first
number. The third number is two more than the first number. What are the
three numbers? 3,6, 5

Reasoning The volume of a boxis x* + 4x® + 4x. Explain how you know the
box is not a cube.

The factors are (x + 2)(x + 2)(x); these are the dimensions of the box; because
they are not all the same, the box cannot be a cube.

Error Analysis For the polynomial function y = %xz + x + 6, your friend
says the end behavior of the graph is down and up. What mistake did your

friend make?
a is positive and n is even, so the end behavior of the graph is up and up.




